Display Data in Box Plots
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The lower quartile is the median of the lower half of the data set.
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The upper quartile is the median of the upper half of the data set.
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A box plot is a graph that shows how data are distributed by using the median,
quartiles, the least value and the greatest value.
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A box plot visually shows the distribution of numerical data and skewness.
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Consider the prices for jackets: $120, $300, $540, $550, $690, $400, $850.

Goal: Find the median, the lower quartile, and the upper quartile of the prices.
A. Explain how to find the median, then find the median

Order the prices from least to greatest: $120, $300, $400, $540, $550, $690,
$850.

Identify the middle number or find the mean of the two middle numbers.
The median is $540.

B. The lower quartile is the median of the lower half of the data set or data to the
left of the median. What is the lower half of the data? What is the lower
quartile?

The lower half of the data is $120, $300, $400.

The low quartile is $300.



C. The upper quartile is the median of the upper half of the data set or data to the

E.

right of the median. What is the upper half of the data? What is the upper
quartile?

The upper half of the data is $550, $690, $850.
The upper quartile is $690.
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You can do Parts A to C by using the following display. Fill in the boxes with
the prices in order from least to greatest.
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Draw the box plot above the number line.
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Stepl. Start by putting dots above the least value, the lower quartile, the
median, the upper quartile, and the greatest value.
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Step2. Draw a box connecting the quartiles.
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Step3. Draw a vertical segment through the median.
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Step4. Draw segments connecting the least and the greatest values to the box.
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Step5. draw two vertical segments through the greatest value and the least
value.)
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To create a box plot in Excel:

series.

Click Insert Statistic Chart
Click Box and Whisker.
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On the ribbon bar, click the Insert tab.
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Select your data in your Excel workbook—either a single or multiple data

Power Pivot
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The salaries of Sam’s classmates are: $27500, $27500, $28000, $34000, $28000,
$25000, $29000, $60000, $32000, and $110000

A. Explain how to find the median, then find the median

Order the prices from least to greatest: $25000, $27500, $27500, $28000,
$28000, $29000, $32000, $34000, $60000, and $110000.

Identify the middle number or find the mean of the two middle numbers.

The median is $28500. (Z2222r22000)

B. The lower quartile is the median of the lower half of the data set or data to the
left of the median. What is the lower half of the data? What is the lower
quartile?

The lower half of the data is $25000, $27500, $27500, $28000, $28000.
The low quartile is $27500.

C. The upper quartile is the median of the upper half of the data set or data to the
right of the median. What is the upper half of the data? What is the upper
quartile?

The upper half of the data is $29000, $32000, $34000, $60000, $110000.
The upper quartile is $34000.

D. &7 7[efe=+ ¢ R BEBFL -
You can do Parts A to C by using the following display. Fill in the boxes with
the prices in order from least to greatest.
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Draw the box plot above the number line.
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Stepl. Start by putting dots above the least value, the lower quartile, the
median, the upper quartile, and the greatest value.
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Step2. Draw a box connecting the quartiles.
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Step3. Draw a vertical segment through the median.
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Step4. Draw segments connecting the least and the greatest values to the box.
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Step5. draw two vertical segments through the greatest value and the least
value.)
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Through this box plot, you can not only see the least value, the greatest value, lower
quartile, median, and upper quartile, but also observe that the middle 50% of the data
is between 27,500 and 34,000. It is even apparent that at least 75% of the data is
concentrated below 35,000. For a large amount of data, box plots visually show the
distribution of numerical data and skewness.



Example

Conditions
Day Temperature  Weather
Tue °
7 Mar 26/13°C Sunny.
Wed .
8 Mar 27713 °C Sunny.
Thu °
9 Mar 26/14 °C Sunny.
o 28/17°C  Sunn
10 Mar Y
Sat 5
11 Mar 28/19°C Afternoon clouds.
Sun °
12 Mar 29/17 °C Cloudy.
Mon ° .
13 Mar 16 /13 °C Sprinkles early. Overcast.

The daily high temperatures for Taiwan, Taipei in March are 26, 27, 26, 28, 28, 29,
and 16 degrees.

Make a box plot to display the data.

A. Find the median, the lower and upper quartiles, the least value, and the
greatest value. Start by ordering the data.

B. On the number line, draw dots above the least value, the lower quartile, the
median, the upper quartile, and the greatest value. Then draw a box and lines
to complete the box plot.
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3. How to Create and Interpret Box Plots in Excel - Statology

4, Taipei Extended Forecast with high and low temperatures
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https://www.statology.org/box-plots-excel/
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